VCE & PDF https://www.pass4itsure.com/1z0-1114-23.htmi|
g 2024 Latest passditsure 120-1114-23 PDF and VCE dumps Download

PassditSure.com

170-1114-239%As

Oracle Redwood Application 2023 Developer Associate

Pass Oracle 1Z0-1114-23 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https:/lwww.pass4itsure.com/1z0-1114-23.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-1114-23 PDF Dumps | 1Z0-1114-23 Exam Questions | 120-1114-23 Braindumps 1/4


https://www.pass4itsure.com/1z0-1114-23.html
https://www.pass4itsure.com/1z0-1114-23.html
https://www.pass4itsure.com/1z0-1114-23.html

VCE & PDF https://www.pass4itsure.com/1z0-1114-23.html
a 2024 Latest passditsure 170-1114-23 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

What is the minimum and maximum number of steps that can be configured on a Guided process?

A. Minimum 1 and maximum 50

B. Minimum 1 and maximum 10

C. Minimum 4 and maximum 10

D. Minimum 2 and maximum 25

Correct Answer: B

A Guided process is a component that guides users through a series of steps to complete a task or a workflow. A
Guided process can have a minimum of one step and a maximum of 10 steps. Each step can have a label, an icon, an
optional description, and an optional action. A Guided process can also have optional buttons for navigation or

completion. Therefore, option B is the correct answer. References: [Guided Process Component], [0j-sp-guided-
process]

QUESTION 2

The Redwood template your page is based on has a primary action button.

How do you control what it does?

A. Create an action chain mapped to the template\\'s primary action event, at the template level.

B. You cannot. The functionality is determined by the original template.

C. Remove the existing button from the template and add your own.

D. Create an onAction action chain on that button.

Correct Answer: A

The primary action button is a Ul component that represents the main action that the user can perform on a page. It is
usually located at the top right corner of the page and has a prominent color and style. The primary action button is
defined by the Redwood template that your page is based on, and its functionality is determined by an action chain
mapped to the template\\'s primary action event at the template level. You can create or modify this action chain to

control what the primary action button does on your page . References: : Primary Action Button in Redwood Pattern
Book : Action Chains in Visual Builder Studio

QUESTION 3
By design, dialog messages interrupt the user and force them to make a decision.
Which three dialog message components are available in Redwood? (Choose three.)

A. oj-sp-message-dialog-destructive
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B. oj-sp-messages-banner

C. oj-sp-message-dialog-general

D. oj-sp-smart-search-page

E. oj-sp-message-unsaved-changes

F. 0j-sp-message-banner-unsaved-changes

Correct Answer: ACE

This question tests your knowledge of the dialog message components that are available in Redwood, which are used
to interrupt the user and force them to make a decision. The correct answer is A, C, and E, because these are the three
dialog message components that are available in Redwood. The other options are incorrect, becausethey are not dialog
message components, but banner message components or page templates that can be used in different contexts. Here
is a brief description of each dialog message component: oj-sp-message-dialog-destructive: This component is used to
display a dialog message that warns the user about an irreversible action that will delete or destroy data. It has a red
header with an icon and a title, a body with a message and an

optional description, and two buttons for canceling or confirming the action. oj-sp-message-dialog-general: This
component is used to display a dialog message that informs the user about an action that requires their confirmation or

input. It

has a blue header with an icon and a title, a body with a message and an optional description or input field, and one or
more buttons for canceling or completing the action.

0j-sp-message-unsaved-changes: This component is used to display a dialog message that alerts the user about
unsaved changes that will be lost if they navigate away from the current page. It has a yellow header with an icon and a
title, a

body with a message and an optional description, and two buttons for discarding or saving the changes.

References: [Redwood Dialog Messages], [0j-sp-message-dialog-destructive], [0j-sp- message-dialog-general], [0j-sp-
message-unsaved-changes]

QUESTION 4

Which two tools allow Ul/UX Designers to reuse Redwood\\'s shared libraries and templates for projects and products?
(Choose two.)

A. Figma

B. UXPin

C. Adobe XD

D. Marvel

E. PowerPoint RDS
Correct Answer: AC

The two tools that allow UI/UX Designers to reuse Redwood\\'s shared libraries and templates for projects and products
are Figma and Adobe XD. These are popular design tools that support importing and exporting Ul components, layouts,
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and styles. Redwood provides a toolkit for Figma and a plugin for Adobe XD that enable designers to access and use
Redwood\\'s shared libraries and templates in their projects. References: : Redwood Toolkit for Figma : Redwood Plugin
for Adobe XD

QUESTION 5

Which three categories of developers use Visual Builder Studio as a developmental tool? (Choose three.)
A. Developers creating stand-alone Visual Builder Apps

B. Developers extending Oracle Cloud Apps

C. Developers coding PL/SQL procedures in the Fusion database

D. Fusion Cloud Apps developers

Correct Answer: ABD

Visual Builder Studio is a developmental tool that can be used by three categories of developers:

Developers creating stand-alone Visual Builder Apps: These developers can use Visual Builder Studio to create web
and mobile apps that use Visual Builder\\'s low- code development environment and access various backend services.

Developers extending Oracle Cloud Apps: These developers can use Visual Builder Studio to create AppUl extensions
that enhance the user interface of Oracle Cloud Apps, such as adding new pages, components, or actions. Fusion
Cloud

Apps developers: These developers can use Visual Builder Studio to create custom business objects and REST
services that extend thefunctionality of Fusion Cloud Apps, such as adding new fields, validations, or triggers.
Therefore, options

A, B, and D are the correct answers. References: [Visual Builder Studio Overview], [Extending Oracle Cloud
Applications with Visual Builder]
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